
 
 

 

COPYRIGHT TRADESMAN ROOF RACKS | WEDGETAILRACK.COM.AU 

Accessory – Light Bar Support Extension 

Bracket 

Congratulations on the purchase of your 

Australian made Wedgetail Roof Rack 

accessory. 

 

ITEM 

NO. 

PART NAME QTY 

1. Extension Bracket 2 

2. M8X20 Hex Bolt 4 

3. M8 Flat Washer 8 

4. M8 Nyloc Nut 4 

 

Please follow these instructions to ensure 

correct fitment. 

1. Identify the correct positioning of the extension 

bracket based on the length of Light Bar. 

2. Assemble the brackets using M8X20 Bolt, 

washer and nyloc nut as shown in the diagram 

below. 

 

 

 

Thank you for your purchase 

Wedgetail by Tradesman Roof Racks 

Innovation through Inspiration 

 

WTA-LBSE 


